QUESTION BOOKLET series B

1. The pH scale was first discovered by

a. JJThomson b. SSorenson
¢. Darwin d. None of these
wawen pH @e s Eafem s 4 -
a. A aEEA b. TH. WG
¢. =fdq d. T A+ it 7
2. The mostductilemetalis
a. Gold ] b. Siver
c. Copper d. Ahomomum
R 7 W PR R - —
a. HAI b, <t
e. @@ d.
3 Bronze is an all
a. CuandZn
¢. Pband Sn
wW U fasg
a Cusizn
c. Pb3ftsn
4.  Anclectnic bulbis A 10V, the power consumed willbe..........
a 100w
¢ S0W
farat fauga asa #1 10 i W w=IfA %14 § 72 TRR 3 IER
wfaq fawei dft &2
a. 100W = _ — b. 75W
¢ SOW o d 25W , o 3
5. ﬂm;hargemfucallmglhdmmlﬂlsmmdbwhmmdd: 8
o Pl ) . |
c. Cllmry
o a1 v 1 L tgther
a. WW b. Ffewz= g
c. fafasd wtadfed gro d dfefra g
6.  Whichone among the following is known as natural gas?
a. NO' b. CO:
c. CH d  None of these
Frctffin 1 @ ¥ o gt fa A &
a. NO, b. CO,
c. (‘,H., d ¥ A9 =
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7.

10.

12,

The enamel of teeth is made up of which chernical?

o Caleium Hydroxyapatite ¥ Calcium Apatite
¢. Calcium Hydroxide d. None of these
2 1 e 5 T A 7 o

a.  feIEm e e b, dferrm ATz
Metal which is liquid at room temperature
a. Ca

b. F

& & d. None of these

" 0 ST AV (5% 260) 0 7y e 4 271 82
a. Ca

b. F
= O 4. T A 9
What is the chemical formula of Plaster of Paris
AL CaSO, 14H,0 b. CaSO,  _
¢. CaS0,2H,0 d. Nunenuhaé’ '\
TR A w1 wEmatE gy en = ;\ \
a. CaSO,. 4H,0 - H“MP :
¢. CaSO,.2H,0 ¥ ~ ‘u il A w
If room temperature is 300 K, Whﬂ is uh;mmpcmmrc in Celeius scale
a. 27°C N @ e b. 53°C
«C IS e d. Noneof these
afg HW T ".'_3qpfaﬁrﬁaﬁ A 7g o Afcwgn w@he i faan &2
AR\ ) b. 53°C
ayw A ¥ o vl @ W
Find the value of k for which the quadratic equation 2x’-kx+5=0 has equal roots
a0 b. +2J10
c. #2215 d. 40
k 1 W A Ffa, forea fen faam e 20 ke S=0 B @ 5@ qoa §)
a, 0 b. tgm
¢ 215 d. 40
Xylem in plants s responsible for
a Transportation of water h. '|'nm,..pmuuinnuffmd
¢ Transportation of imime aeid d. ‘lmm;mnuuunnfmygfn
vl W dem fam wrd @& fea aneref §
A A e fern b i A @ fem
¢ R e @ oaa i fe d s & aa @ e
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14.

16.

17,

18.

Who is known as father of Genetics?

a Derwm b. Lamarck

¢. Moendel d. Robent Hook
sEES & 9% 5 wn am 82

a =R b AW

¢ fma d tHE s

The part of the brain which is responsible for maintaining posture and equilibrium of the body is
4 Fare brain b Midhrun

¢. Hindbran d. Allof these
FIRA SEE F GG W D W T ww T v

a. ¥m Wi b. W wfeeE

. T ufer J. TH W
Nephronis the unitof ___

a. Respiratory system b. Digestive system
¢ Excretory system d. Circulatory system
I () v A fewe gl & -

o VI b. A 73

¢. W T d. e i
An enzyme responsible for the digestion of pritein is

. Pepun b Lipse

c. Amylase d. Allof these
W & T | - g e v ¢ -

a e b @THm

¢ FmEEa d Ao

12
If Cosf= T , then find the value of sin @ ?

Lg b 12
. | 5
5 §
c. 13 o 12

Q‘fafmﬂ=:—§ MM sing W E AN

12 h 12
o 3 :
. 3 d 3
The 1.CM. of iwo integem 26 and 91 1%
i!- IJ h‘ |Hz
¢ 26 d. 9
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a‘}!{ﬂ:hﬁ}b?l‘ﬂ'l?‘l ?FTL.C.M.%-
a 13

h. 182

c. 26 d. 91

19.  The sumof zeros of the quadratic Polynomial x247x+10is
a. -7 b 7
¢ 10 7

T

fevma amae x‘+71+10¢¥1=ﬂ3.’i%|ﬁmt_
a. -7 b 7
c. 10 d 7

200 If poi R

- POINIs (2, 3), (4, K) and (6, “3)are collinear, then find the value of K

a. -l . 0
c. 1 d 13
ﬂfafw:z.n,u.mm:a.-a;ma.mmmmm\-
a -1 b. 0
¢. | d 3

21. Whichof the following is not an example of a biomass energy source?
0. Wood b. Gubar-gas
¢, Nuclear energy d. Coul
hﬂfﬂfmﬁﬁmmmmmmwt?
n, m i wm
c. A F d. ®aen

22, Myopia (Shon-Sightedness) a common refructive defects of vision is corrected by using a

#. Concave lens b. Convex Lens
¢ Bi-foval lens d. None of these
fre gfe (frae gfem), gfe & amr sads A W WA A ¥ g weifia fem wm ¢
a. . sAE #m h. 3@ #W
¢. ATHHA ¥y d. il @ W T
23, Anexample of homologous Organs is __
A7 Our arm and a dog's fore leg b. Qur tecth and an elephant’s tusks
¢ Potato and ranners of grass d. allof the above
LLEEU R R G| -
0. WEI @9 A & s b, Wt 2R @ o & 2
¢, WIE UA W @ ufoprh d. v W
24 Inevolutionary terms, we have more in common with_
i Chinese sehool-boy b Chimpanzee
¢, Spider d. Buctenum
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26.

27.

29.

30.

faepTedta gfeeam @ T frg Q Sfs TEEd € -

a. A & faendt b. feedsh
c. W&3! d. ﬁﬂl‘ﬁ
The anther contains
a. Sepals b. Ovules
c. Pistls d. Pollen grains
TR A R R -
a. WA b. WY
c. 39 d. T &
Which of the following metals are generally used for electrical transmission lines ?
a. Gold and Silver b. Iron and Manganese
¢. Tungston and Nickle d. Copper and Aluminium
frefefen & 4 F @t tﬂ@ﬁmiﬂﬂﬁmmiﬁmm?ﬁﬂﬁmﬁ*ﬁﬂhﬁmm??
a. Tes am faea b. IME am T
c. 2m=a aw fada d. wfor o1 eegfafm
Which of the following is an example of metals ? o 4
_a Band Si b. Poand M
c. NaandCa d,:Er_ant"‘rlS
ﬁqﬁﬁmmﬂrﬁaﬁimm%—
a. B3MSi s 1 B PoSRN
¢. Na 3 Ca Y By a d p3ns
Food cans are coatgd wilh tm,ﬂnd mlw:lhzmc because.........
a. ?Jnug,,_nu]ydmnnn N b. Zinc has higher melting point
&, Ainc i< more feacting than tin d. Zinc is less reactive than tin
mmﬂ#fyﬁimmaﬂmmmmm%wﬁfm
a. Tz 1 ardan fi wwm @ h. fza #1 30en fis T ToAE FTE €

o fra ® e o sifrs wfvfwamia & 0. f3 31 s faw w8 sfufwamie &
A solution tums red litmus blue, its pH is likely to be

a | b. 4

c. § ¢ 10
ﬂﬂﬁn\w{mmmaﬁﬂmm&mt w@# pH \vaa: 70 8m -

a. | b 4

c. 5 d 10

Which of the following phenomena always results in the cooling effect

a~ Condensation b, Evaporation )

¢.  Sublimition d. Noncof these

ﬁqfﬁmﬂﬂmmqﬁmﬁmm&mﬁma:
0. G b. amdFTy

¢, FeAUEA d. 78 A 7 7




3L

33

34,

37.

What is the STunit of power of a lens 7
o, Ohm

b. Meter

¢. Dioptre d. Decibel

0 T A UR 3 e 7

a. 3feEm b. Hiet

. B d. SHIEA

Name the instrument which is used todetect the presence of acurrent ip 5 circuit
a. Voltameter ~5. Ampere

¢. Generator d. Galvanometer
mmmmwmmﬁu@ﬂﬁquﬁﬁ@ RUERRE ko T
A, AeTHz b, R

c. W d. A=ty

Which colour ig in the innermost curve of a rainbow

a. Vol b. Green

¢. Red d. Yellow
TR R ST e w0

a. T b. T

c. ©&e 4 Wer

Twinkling of the stars is due to the

a, Rfllu'tiunufliphl b. Atmospheric refraction
C. S-::lucringuflig'lnt d. Noneof these
T & forfanm & t

A, TH F qrEdy b. arvzEE svady
C. WHTI F1 Uiy d. &§ ot =g

The chemical formula of bleaching powder is

a. CaCl, b. Ca(OI b,

¢. CaOCl, d. CaO

ot ol = ot wE-

a. CaCl. b. Ca(OH)

c. C;IO(-:'I: d. Ca0

The ISthtermof the A.P. 7, 13, 19.......i%

a. 105 b. -78

c. 91 d. 97

AP.7,13,19, ........ 3 1591 w2 1 9 7

a. 105 b. -78

c. 91 l'.l. 97

The circumference of a circle whose radiusis 7 cm is

a. 154c¢m ~B. d4em

c. 44em? d. l4em
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8.

19.

40.

41.

42,

mﬁi.ﬁmaﬁqﬂﬂﬂﬁhﬂﬂﬂﬁ?

a. 154¢m b 44cm
c. “Cl"ﬂ: d l4cm
Find the volume of cylinder whose height is 6 cm and the base of radius is 14 cm
a. 1967 cm’ h. 11767 cm’
¢ 3927 e’ d 1967 cm’
uw de & AR e 14 Al s St o B & A T A € -
2. 1967 cm’ h. 11767 cm'
c. 3927 cem’ d. 196 7 e’
Volume of sphere is given by the formula -
2
HE _;._ Jﬂ':h b. —jm
C. % nr' d. ar’h
A B AET F A FE -
2 3
a. _l.‘_ .d.'r]h b 'iﬂ'r
c. %— ar’ d arh
The value of tan 26° is
cot 64°
a1 b. (0)
¢. -1l d \ﬁ
tan 26°
cot 64° & 7
a. | b. (D)
c. -l d /2
Name the process during which the movement of water molecules takes place across the cell membrane?
a.  Diffusion b. Osmosis

¢. Endocytosis d. None of these

mfaﬂ:mmﬂaﬂ!sﬂfu‘%i’mﬂﬁ*ﬂﬂﬁﬁ“ﬁmfﬂm#m-mtﬂt?

a, fammm b. W
c. TEWEAHE d. 578 q 9
Whatis known as energy currency of cell

¢. GTP d NME‘)[M



43.

45.

47.

48.

wifge w1 S fFQ o1 s §?

a. ATP b. NADPH

c. GTP o vl @ o
Whichnncmmngﬂlemhasndnmmmm-r

a. Vercbruta b. Echinodermata
¢. Arnhropoda d. None of these
v A fwd yeei w9w < v w8

& Sy b, TETEAEHA
c. smdnrE 4 77 A a7l
Which one among the following is found in haemoglobin?

a K b. Ca

c. Mg d. None of these
Frefefas 3 A % o et & s am @ -

a K b. Ca

c. Mg a vl @ o
Which plant harmone inhibits growth?

a. Abscisic Acid b. Auwxin

¢. Cytokinin d. None of these
FH | 9RY B gfE % wewa w82

a. Ufsfas o= b. wifam

¢. WEAHEAA d. TR A ¥ 7l
Which force opposes the motion of an object

a. Force of friction b. Unbalance force
c. Inertin d. Noneof these
® W T o] F vfa B dwm §?

o WYq 9@ b. swqfem @@
c. WEME d. 7 A & 7
In which of the following medium, the sound waves cannot travel?
a. Air b. Water

¢. Vacuum d. None of these
v A frm A wafa 7l o Tt w2

a. A b. I@

c. fram d. wail & @
Name the mirror commonly used as rear view mimor i vehicles

a. Concave mirror b. Convex mimror
¢. Sphencul miror d. None of these
26 T ® A qaed A e @ gy wvq qdn & w § 3w fm @ 82
p, FENA Tim L

c. T 2w d. gl & o



49.

50.

51.

52,

53.

35,

What is the frequency of AC used in India?

a. 20Hz b. 35Hz
c. SOHz d. T5Hz
v # 35 Y ) areh g o (eE.) B e g
a. 20Hz b. 35Hz
¢. S0Hz d. 75Hz
What is the SI unit of pressure?

a. Newton b. Decibel

¢. Pascal d. None of these
qra & W, 3. " 1 o

o A b. Bfaam

c. TS d. ¥ | wrf T
Which state is the largest producer of banana in India ?

a.  Andhro Pradesh b. Tamil Nadu
¢. Muharashtra d. Uttar Pradesh
WIE 8 A W qaR e aEE g F R | 8

o, Y WRW b, aftrerrg

¢, WO d. I WY

Jim Corbett National Park is in which State ?

a. Odisha b, Bihar

¢. Unar Pradesh d. Unamkhand
fory w1z ofrg 7o frm o & 82

a. g b, fawm

c. IM waw d. ITTEE

Find the odd one

0. Arjun h. Mﬁ

¢. Thshu d. Prithvi

firm & | fo= 4 -

a. A h. #fra

c. fawm d. y=h

The finst hot air balloon safari was launched in Bandhavgarh Tiger Reserve. It is located in which State ?
a. Madhya Pradesh b. Untar Pradesh
¢. Chhattisgarh d. Rajasthan

W mw g woer aiveng efm feod # w gé ) 7w fem aoa # fem §2
0. ™A wR b. I WM

¢. wiramg 4. TR

Which district is lurgest producer of ginger in Himachal Pradesh

4. Kungra b Bilaspur

¢ Simuur d. Solan

fommam wiw & for ford) # svaTe o) QLA AR o oy @ 2

i, m h. h’m
¢c. faoin d. wrem
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56.

57.

58.

59.

61.

62.

Khasi Hills are situated in which north eastern srate?

Meghala Mizoram
:: M.‘mipn'yu :_ West Bengal
ar! feen form am gl o3 1 fegm &2
a. UaTeg b Fll'iiﬂ":l
c. afq d. ufv=m ame

Which among the following recommends Minimum Suppont ﬁmrqmmmmﬂrﬁnm

a. Mnistry of Agriculture b. Farmers Commuission
¢. Agnculture Costs and Price Commission d. NITICommission
P 8 % 3R s B 2w w1 9 s S d -

AL RE b. fwam 3mim

c. Hfy @M i geq smm d. fifa smdm

First satellite launched by India

a. INSAT b. PSLV

¢. Chandrayan d. Aryabhata

I B10 E T Igen I9E -

a ¥ b. WigwyeE

Cc. 9WRgF d. ;mh.r;{g

In "Ek Bhara, Shreshtha Bharat” programme. with which state Himachal Pradesh has been paired ?
a. Kamataka b. Tamil Nadu e
c. Kerala d. Goa
"W%ﬁam"mimmrﬂ,_ TR F S A ?
a wFfew b. g -

c. @ _ d. W '
Which of the followingstaté has highest ftest coVer in tems of per centage of total geographical area?
a. Himachal Pradesh b. Anmachal Pradesh

c. Mizem w d. Meghalaya

R 1= A SuTwES o w Y R s W e e e wa e
a. feqras wm b. FFURH R

¢ faemm d. ™

The following state does not share border with West Bengal?

4. Jharkhand b. Sikkim

c. Assam d. Arunachal Pradesh
ﬁﬂﬂﬁmmﬂtﬂmwﬁaﬂm%mwﬁmt?

a. WREYE b. fafesn

c. WY d. EwEE W

On the bank of which river is statue of unity situated?

a. Narmada b. Tapi

¢. Sabarmati d. Mahi

R 3% 7 frm ) 2 72 W feeg 82

¢. WEIEE d. wie
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63. Inwhichdance in Himachal Pradesh headgear and crafted masks are used?

a. Chhanak Chham b Chhamdance
¢. Dandras d Thoda
mmmﬁmamﬁﬂﬁquﬁﬁ*’mmﬁ?
a. oA TR I b SHTH
¢c. EVETA A d a3
64, Which of the following river originate from Suri Tal lake?
a. Bhaga h Spit
¢. Pm Jd Chandra
7 A # o 7 T A A e o b
a. WM b, wi
¢. fm 4 =
65.  Which of the following is not a viral disease”
a. Polio b. Mumps
¢.  Small pox Jd. Typhoid
Tl A F | AmE W T R
a. e b.

¢. WIH d.

66.  Rashimi walked 40 meters towards north, then turms W hepiedt :
and walked 40 meters. How far, and in which dgeetion
a. 20 meters east

et & s 20 Wzt e § 1 aw for Al ) sie 40 W =)

¢ fom fem A 82
b 20 Wz IW
d 20 e gfvam
67.  Which state did get e-Panchayat Puraskar from Mimistery of Panchayats?
a.  Rajasthan b. Himachal Pradesh
¢. Haryana d Gujara
v A farm o A § vearan e faen & A D s G a g fem a2
a. TSR b. frmram wim
¢. wftam d. T
68.  Who is the Chairman of ISRO?
a. Shailesh Nayak b. AS. Kiran Kumar
¢. K. Kastunrangen d. K.Sivan
mdr stafen sEam wEA @ svay A §?
o, fAm AmE b. T.UR fxm HAR



69,

Which is the largest state in India

a. Rajasthan
. Mah: - b. Madhya Pradesh
d. Uttar Pradesh
VA H R It TR W e -
a. UTIWR[
. b, T WV
‘ 4 I RH
70. %:;wasﬂ:eﬁmhmimdm
a. S Radhakrishnan e
¢. Rajendra Prasad b, ZEkk .
YFA @ T W d Neelam Sanjiva Reddy
8 U b, rtET A
C. T yom d. =rm s g
71. WMislehMmmanmwmmm:crhlawm?
a. Clnefb-ecreku‘y.ﬂumthnlm b. Chucf Mimster, Himachal Pradesh
¢. Govemor, Hi
. A nmthaledmh d. Hcalth Minmister, Himachal Pradesh
ferT=e wo T smee1 wavA Wit @ ange o 22
a. YeA wfaq, fevraa 2w b. A, ferae
¢. T, femrae v d, T wEl, frae v2a
72.  Which of the following is an anti-radiation missile?
a. Nag b. Rudra
c. Prthvi d Hema
T | ¥ & A ewm foasa §2
a -m b. 58
¢. Y= d. 8
73.  Inwhich state, Palani hills are situated?
a. Sikkim b. Nagaland
c. Kerala d. Tumil Nadu
wert vtz fea g ¥ fema §2
a. fafewm b. TS
c. & d afrerg
74.  Whichof the following lake is a fresh water lake”?
a. Lokuak lake b. TsoMonn ...
c. Pangong Tso lake d. Chilikaloke
it A 3 g A T F e &2
a. AFaF wd b. = W wE
c. it = S d. faem die
series is gi ith two terms missing as shown by (7). Choose the missin
75. A letter number senes s B WO R
siven opliﬂﬂs D-4. F-6. H‘s. J-10,72.?
a. K-12, M-13 b. L-12,M-14
c. L-12.N-14 d. K-12, M-14
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s A A e 4 ¥ o @y v 7 @1 O B 4 v w2 3 - D4, F6, H-8. J-10, 2,

a K-12.M-13 b. L-12. M-14
c. L-12, N-14 d. K-12, M-14
26, FHAHEVE IS EIHT -
a. AR b. dRTY
¢c. A= d. 991y
77, W@ adA affe -
a. M b. apm
¢. 9 d. 37 A #d 7
78, VA (W) & AMR W @, 9, F, 3 & o At §2
O 1 b. A
c. TR d. ¥ A Frf 7
79.  tm M faaE IgER HvE A 1S -
4. STHMA b. fatmit
¢. s d. fagrit
80, Iwgam & af fae § -
a. 39+ AN h. 3+ =EH
¢c. I+ ¥R d. 3+ 9W
Bl. Ramgaveme.........coooenins Jne rupee note.
F b, the
. a j’ﬁ None
82.  Please beware ...... the dog.
a. to b. with
c. for d. of
83.  Saurabh is the boy in Himachal cricket team
a. Oldest b. older
¢. Eldest d. elder
84.  The word 'brave' in 'She is a brave woman.' is a/an
a. Noun b. Pronoun
¢, Adjective d. Conjunction

85.  Which pant of speech the underlined word in the following sentence is:
Men fear death as children to go in the dark.
a. Conjunction b. adjective
¢. Noun d. adverb




